o Ted has incowe, but also a risl
of heart attack '
Tncome  &4p 000 = T
Cost of Haarﬁ attack treatmend: £30 0op = V]
Probalol ity Ted has Heart Aftack 207 =p
Ted 's M“"”H\f -ﬂ,tvtd“{om U = L(I%D

2
a> Whoet is Ted's {KFEO’f"ﬁG( income (wfo (nsuredtce ) 4
) stodes of world : ho Nﬁ aftack. and heart attack

wio oHnc
E[x] = #34,000

p) what is Teds @tPﬁc‘f'co‘ bCHlH'\, (wfo insurance) 7
= [(- X L(+t\+ ik
SRt ek P ek

E(u]- ((~P) U(IEL{O‘DOCQ +pxu (Iﬁw,ooo)
E(u] = 90 utils

<)) whad amownt of income could Ted have with
c@k‘f'a!er\f Hhat would raake him ec(ua”«j l/\app\f as
Wf'H/\ e umccm“ar'n%j (Y b> ?
Eluw] - ce,rf'cu'n U
90 > — (I _T_*-ﬁ’sz,l{oo



Ted's uhli
|(+Y Probfe;m

Tealis;
(utid<)

U MCLHPIY =

U (%4000
w| cerfaikﬁy

—

[ —
—
—

Jo=Eful;

Tncome



